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HTML is a computer language which is used to creat ................

Web browser sj5lkwcs (D) Webserver s3¢s (C) Websites uylr.,g; (B) Attribute Lu($& (A)
In a flowchart , rectangle symbol represents .............. q.azﬁlb'.vmf ] ‘Pp uﬁ._:uguﬁ )

Connecter ){5( (D) Processing Jn‘ (C) Decision d)b«.lé (B) Input/Outp
? & o1 LGl L2

Which of the following symbol is used for flow of flowchart ?

e T Isgul (A)
el -3

Flowlines /"’Uﬁ (D) Connecter )év( (C) Processing ..,5.“:4 (B) Terminal J’-f} (A)

U o L L N

................... is used to check whether a proposition is true or faise

Lq_..-/.ucﬁ"ltd{‘jf -4

- -Ti"uth values JAM’:} (C) Logical operator jz{,l‘}:’?ﬂ (B) Boolean »Ilgebra. 'A"c}""i (A)
r

T

th table U447 (D)

Sl oK SR IP G LL g gecft - 5

- IP addressing must be understand as part of the ............... for conversatior

Switch ér (D) Routers i/ (C) Protocol dﬂ:{ (B)

over the internet

Computer }.c! (A)

q—l'xdﬁ""”dﬁhcwf-i’—zuf o TP N ST

Which protocol is used to transfer mail from one place to another place ?
sSTP (D) SMTP (C) HTTP

(B) FTP (A)

E-mail stands for ..........c..... ¢ H
Electronic mail J%£201 (B) Electric

Electronic message 5‘:5}9' (D) Electronic med

One common form of a Cybercrime is .................. G
Hacking S (D) Piracy &}g (C) Transaction fraud JlAy"‘f'}l} (B) Identity th

" SR - |
I mail J2K42 (A)
um 4B (C)
- SPeLiSAA -8
eft Yigl=3t (A)

The process of encoding data in such a way is called +Blg(f...ﬂf J’J &bu(fu’-d" e .9

Piracy oi/’g (D) Copyright _tfmg( (C) Sabotage d;b’..,.;}" (B) Enc

ryption (LKF# (A)

How many tag exist in HTML document ? q_JmLJJ Tag wssfis HTML - 10

5 (D) 4 (C)
59 (Obj)-12021 - 50000  (ALP) . SEQUENCE - 4

2 (B) 3 (A)




v 12021 U ¢

€y

(PART §) (gl 4smmn

<2 45 A‘"1=.9:J
40 =74

COMPUTER |SCIENCE L4

NEW COUR

Dér-G4-2|

E (ALP)

e wgr)

Q.No.2 Write short answers any Four of the following 4x2=8 a{;,{-.gw"&l:a I Py ) 2/.’})’)’
Explain the importance of a flowchart in problem solving éukwuf&.:kﬂi./dﬂ’/ {
What is meant by efficiency of an algorithm ? ) ?:yk’;—_dﬂ}‘:ﬁfﬂ:ﬁ 4
What is meant by act-it-out ? ? el ssTegelil v
What is meant by understanding problem ? b 5_;’/{{9&513* r
Define the HTML ZwA HTML| o
What is meant by Hyperlink ? t 4.;1/{;....@,‘ oY

Q. No. 3 Write short answers any Four of the following 4x2=8 2}.};’.—4&;"&,'21 Jy e LSitn 3 /dlr
What is meant by Hexadecimal number system ? ? 4_;’/&'2:Wlliid:ﬁd‘rjl; !
Convert (1000001), to Decimal Z Ll (1000001),]
What is meant by Not operator ? ] 4.:ykr=—/‘-..4:l Not| ¥
What is difference between Bit and Byte ? * < JANR LA Ll |
What is Soft lifting ? ? AL o
What is Hacking ? t gLl | v

Q .No. 4 Write short answers any Four of the following 4x2=8 é;f.—.yzﬁédz Vs :.g)tgt)&» 4 Xdlr
Define Hardware sharing .éqyﬂfjf?jyb[, f
What is meant by sender ? ¢ el by neJes| y
What is meant by routing ? f 4.;'/92:.,Ju r

¢ & WY (HTTP) Uihy by v
What is the function of HTTP (hyper text tranfer protocol) ?
What is difference between Hyper link and Anchor ? g{uycwfﬁu,:_ﬁ,é K
What is meant by tag < br> ? S eslplfe <br> f|
( (PARTI jppdsan )

NOTE : Attempt any Two questions from this part 8x2 = 16 4/’.-4!25:40'%6:(6‘;,—0‘)" T
Write the use of flowchart symbols e’j{.‘ukdh”ib’a LU-J..‘waE 55;‘)':'
Why a computer network is needed. Explain it .iuk:_‘}."‘r T q..&xu[e.wﬂjwug’}g;{ SZJLV
Explain Substitution Cipher Method with examples g—’.’..»u,;u;wuﬂ.)éwvd;va T/f.'dlr
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What is the extension of HTML file ? \ ? Qo S Sonie 1
htnl (D)  .htl (C)  .html (B)  .hmi (A)
............... tag is used for inserting line break q..bl,kfdb-'ﬂ"‘!uﬁ._----.. » 4.’-&1.):{ e -2
| <gr> (D) <cr>(C) <brz (B) <dr>(A)
remenineenens I8 @ Way to protect an idea Py B[ £ jjfu'( ......... ..

Encryption J‘ﬁ (D) Patent < (C)  Phishing Jiss (B) Piracy d/’g (A)

T T

Which of the following is not good characteristics of good password ?
Does not contain username mJ”'{(-':JJ,i (B) Is eight character ipng 3227 (A)
Contains upper case letters m}”%d:lgz (C)
t o i A} (D)

LSl -5

Password is your name only 4..}”;

AUl

Which strategy divides a complex problem into smaller problems ?
Act-it-out .:aif.bld I (D) Divide and conquer o Zal(-‘v (C) Prototype 57 (B) Guess »JILI (A)

4_mfdm4_&;/u?r (Flow) ﬂg&&nﬂwgvﬁ‘f( -6

It is used to determine the flow of steps in Flowchart )

Connetor )9’ (D) Flow line ofﬂ:‘ (C) Terminal Jf} (B) Process J’ (A)

How many layers in TCP/IP ? t u_u,'éd’(u: TCPIWP -7
7 (D) 5 (C) 3 (B) 1 (A)
172.16.54.1 is an example Of ........ccoue Bl —eeegeae 17216541 -8

DNS (D) IPV4 Adress (2.4/ IPV4 (C) Domain < (B) Protocol JfBhy (A)
Hexadecimel System has total ................ Numbers u_fo/:.' A I s ‘,}:J‘J'pr' -9
15 (0) 18 (C) |16 (B) 17 (A)
One (1) Bit is equal to .....c......... e4lotikl - 10
5L6 (D) O0L1(C) 34 B 1L2(A
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Q.No.2 Write short answers any Four of the following 4x2=8 égﬁwz/’& 7l Jg e L3tw 2/4 J’f

What is meant by Hyperlink ? ' q-ﬂ/&fa—-gﬁ' ki !
What is meant by trace table ? ¢ 4..:!/{:_&&) r
What is meant by decision making ? $ q..:l/y’é.dJlfJé r
Which tag is used for paragraph ? T q.t'xdb-"’i WQ—LJ‘AG "
Write the name of any two symbols of flow chart g‘}t[.gtw&up‘ o
What are the paired tag ? ¢ ujLnkaS fe| ¥
Q. No. 3 Write short answers any Four of the following 4x2=8 é{ﬂ’a&lﬁ/ﬂ&' Rl Ay eSSt 3 ,.? Ui
What is the difference between bit and byte ? ¢ ¢ IR |
How data is represented in computer memory ? q:—c-blétIfo thﬁdﬂf-’}t{ ¥

g 4.6}{;)5;514{4)190”0#»%}”00” >

What is difference between volatile and non-volatile memory ?

Define Hexadecimal number system é...aj{f‘}d'ﬂ;' v
Write the types of software piracy -y, UIJ&}W.QV o
What is sabotage ? § gL Ly |

Q .No. 4 Write short answers any Four of the following 4x2=8 .é;/{-,t,,w“’é.lm s e LSits 4 /.U'f
Define File sharing é...yﬂf.fﬂifb |
What is meant by Receiver in data communication ? ¢ q.:l/&fa.lfu / aﬁﬁ:ﬁg)ﬂu’-’g! k3| v
Define Application Layer i—ﬁﬂ}!ﬂ&l v
Write a note on IP Address gq.*d p/&ﬁgﬁ/&l P
What is meant by Anchor in HTML ? 2 q_ﬁ/kfc—ﬁ'u: HTML| @
Write the purpose of tag < br> in HTML é{;ﬂ"' ¥ <|br> J‘}f HTML| Y

( (PARTH )
NOTE : Attempt any Two questions from this part 8x2=16 é; ﬁ&mﬁ#ﬂlﬂm_éfc‘,w JOF
zﬂ c—d.’# d.‘.;b/()li":—.wk)@ﬁ - u—é‘ﬂu‘b/k)ﬁ 5w

Define flow chart and determining requirements for flow chart in detail
,é;/}_.&.“flmd;géw < wg,w&f ts| 64w
What is meant by data communication 2 Write its main components in detail
éfu c'a_br‘" J oy kél ngq}ﬁ"l( St 7 /;;dlf

ord

What is the use of password ? Also write characteristics of a good pas

|
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